%0 - ana

ge:

=
LU

2 WiinFuudendmauiigndasluusazdonauadludesdinou

.

1) 28x+20x° —4x* w1y 4x

Ans=

_ 28x +20x° —ax’

4x
3

28x 20)(2 —lx
+ +

dx 4x ax

?-’:-.‘»crl-x2

745x —x"

2) 45x* —=30x° —25x W1eY —5x

45x° —30x" —25x

_ =26x" +65x

13x

_ —26x"  65x"

Ans=

'."—5x—x2

9)(2 +6x+5

—9x° +6x+5

2x° +5x

uoLIVEWORKSHEETS



E = Ans=
4) 60x* —=36x° vsay —12x7

60x° —36x

_lzxi L [ T e e -

60x° —36x"
= 2 + 2
—12x —=12x

5) 14x* =35x° —42x* w15y =Tx°

1 14x" —35x" —42x°

2%  +5x46 | | =2 =sy46 | | =25 +5%—6
_?XZ - i

: 1ax’ —35%" —a2x"
= z + 2 + 2
7 —Tx —Tx —7x
4 3 b ;
6) —18x" —42x" —42x P
bx

_—18x4+(_42x3J+[—42le L] —3x’ —6x’—7x || =3 =7x"—6x || =3 =7x*=7x

uoLIVEWORKSHEETS



2 WhinGeuidendneuiigndedluusas dfensuadludesdney

21x* =30x° +15x° | Ans=
3x°

7)

73 —10x =5 7x° —10x +5 7x° +10x+6

—-36x’y* +27x'y* —54x°y +9xy | Ans=

8)

—9xy

—ax’y’ =3x’y —6x"y +xy ax’y" —3x"y +6x ax'y’ —3x'y+6x—1

uoLIVEWORKSHEETS



